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50cm 0.11 0.1
580 =50 #HEARE |hRAE 9H26H
1m 0.11 0.11
i 50cm 0.08 0.09
581 =&H #HELAR |AEAE 9826H
1m 0.09 0.09
i 50cm 0.15 0.16
582 = &R #HEAR |—FARoE 9826H
1m 0.14 0.15
i 50cm 0.09 0.10
583 =58 HRAE |EEBAE 98268
1m 0.10 0.10
i 50cm 0.09 0.10
584 =&H #HELAR |NTHRLE 98268
1m 0.10 0.10
i 50cm 0.12 0.12
585 =&HT #HELR |BHLE 9H26H
1m 0.11 0.12
i 50cm 0.09 0.09
586 =&H HERAR |RBERAE 98268
1m 0.09 0.10
50cm 0.13 0.14
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1m 0.13 0.14
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50cm 0.11 0.12
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1m 0.11 0.12
50cm 0.10 0.11
588 =&H BBAE [ARAR 9H826H
1m 0.10 0.10
o 50cm 0.11 0.12
589 = &M MTERA (A ESHRH 9826H
1m 0.11 0.12
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